Computer No.121951 F. No.-13/32/2019-MsDP-MoMA Government of India Ministry of Minority Affairs

11th Floor, Pt. Deendayal Antyodaya Bhavan C.G.O. Complex, Lodhi Road New Delhi-110003 Dated: 10.03.2021

To

The Pay & Accounts Officer, Ministry of Minority Affairs, Pt. Deen Dayal Antyodaya Bhavan, New Delhi

Subject: Grant in aid of 2nd installment under the Centrally Sponsored Scheme of Pradhan

Mantri Jan Vikas Karyakram for Minority Concentration Areas (MCAs) to Government

of Rajasthan for the year 2020-21 for Ajmer, Alwar, Barmer, Bikaner, Bundi, Churu, Ganganagar, Jaisalmer, Sawaimadhopur, Udaipur District.

Sir.

In continuation to this Ministry's sanction letter of even number 13/32/2019-MsDP-MoMA dated 20.03.2019. I am directed to convey sanction of the President for release of Rs. 3,99,22,400/- (Rupees Three Crore Ninety Nine Lakh Twenty Two Thousand Four Hundred only) as 2nd installment to the Govt. of Rajasthan for implementing the scheme "Pradhan Mantri Jan Vikas Karyakram (erstwhile MsDP)" for Minority Concentration Areas in State of Rajasthan for the year 2020-21 as per the details enclosed at Annexure -I. The non-recurring grant may be released to the Govt. of Rajasthan through CAS, Reserve Bank of India, Nagpur.

- 2. The State Government should ensure that proportionate share of 50% of State share for the project mentioned at Annexure -I is released to the implementing agency along with Central share.
- 3. The expenditure is debitable to Demand No.69, Ministry of Minority Affairs Major Head-"3601" Grant-in-aid to State Government, 06- Grants for State Plan Schemes (Sub Major Head), 101 -General-(Welfare of Schedule Casts/Schedule Tribes, Other Backward Classes and Minorities) -other grants (Minor Head), 64–Pradhan Mantri Jan Vikas Karyakram for minorities, 64.00.35 Grant for creation of capital assets the year 2020-21.
- 4. The sanction is issued on the commitment given by the State Govt. that villages/locations having a substantial minority population will be/has been selected for the projects mentioned at Annexure-I and also that duplication will not take place.
- 5. A copy of the Utilization certificate of 1st installment is enclosed. Further it is certified that no UC is pending for these projects.
- 6. Utilization of the above mentioned amount by the State Government is subject to the terms and conditioned at Annexure-II.
- 7. Utilization Certificate for this grant should be submitted by the grantee in the prescribed format within 12 months of the closure of financial year. As per the conditions contained in para 12.5 of the guideline of Pradhan Mantri Jan Vikas Karyakaram (erstwhile MsDP), (i) Quarterly Progress Report (ii) Utilization Certificate (UCs) (iii) Report regarding release of the

Strive पूर्वर श्रावीस्तव Abbit के अधिक Shiekhar Srivastava अवर अधिक / Under Secretary अधिक कार्य मंत्रालय Ministry of Minority Affairs भारत सरकार, नई दिल्ली Govt. of India, New Delhi State share in case of innovative projects and (iv) Photographs of the Asset so far created will also be furnished.

- 8. The State Government should ensure that a board containing information as per Template enclosed at Annexure-III is displayed at the site. After completion of projects, a permanent display would be installed.
- 9. This is to certify that the present sanction/ expenditure is covered under MEP for the month of March, 2021 and Integrated Finance Division (IFD) has approved the expenditure during the 4th quarter of the financial year 2020-21.
- 10. Funds should be released by the State Govt. to the implementing agencies immediately upon receipt of the same from Govt. of India and as per the directions of Govt. of India, Ministry of Finance; parking of funds at any level is strictly prohibited.
- 11. This sanction issues with concurrence of IFD Note No. 27 of File no. 13/32/2019-MsDP-MoMA dated 08.03.2021. It is noted at S. No. 124 in the Grant-in-aid Register.

Yours faithfully,

(Shubhendu. Srivastava)

Under Secretary to the Governor India
Tel: 011-24302534

Copy to:-

- 1. The Accountant General, Rajasthan
- 2. Manager Reserve Bank of India, Central Account Section, Nagpur-440001.
- 3. Secretary, Minority Welfare Department, Govt. of Rajasthan
- 4. Secretary, Finance Department, Govt. of Rajasthan
- 5. Director General of Audit, Central Revenues, AGCR Building, New Delhi-2.
- 6. District Magistrate/Collector, of Ajmer, Alwar, barmer, Bikane, Bundi, Churu, Ganganagar, Jaisalmer, Sawai madhopur, Udaipur District of Rajasthan
- 7. Sanction folder.

8. MoMA-NIC Computer Cell (Shri Naeem Ahmed, Senior Technical Director) for website updation.

(Shubhendu. S. Srivastava

Under Secretary to the Gott of India

Tel: 01-1-24302534Pelhi

Projects approved for Ajmer, Alwar, Barmer, Bikaner, Bundi, Churu, Ganganagar, Jaisalmer, Sawaimadhopur, Udaipur District, during 15th EC meeting held 08.03.2019. Sanction order released on 20.03.2019.

Rs. in lakh

-											s. in lakh
S.N o	District	Block	Name of P rojects	Shari ng R atio			Total C ost		State S hare	tallme nt of Centra	stallm ent of Centra
										e(in R s. Lak h)	
1	UR	UR	HADA, U DAIPUR - ACR-4,ST AFF ROO M-1, TOIL ETS-2 TOT AL- 07	60/4 0	1	42.5					UC Re quired
2	UDAIP UR	UDAIP UR	GOVT GIR LS SSS, A MBA MAT A, UDAIP UR-ACR-3, LAB-3, TO TAL-06	0	1	64.8	64.8	38.88	25.92	19.44	19.44
3			Constructi on of Com posite Bloc k in Govt S SS W.NO 1 ,BALCHA ND PADA , BUNDI: ACR-1, C WSN Toile t-01. Total Units- 2	0	1	12.05					
4	Alwar	UMRE N	Constructi on of Com posite Bloc k in Govt S SS JATIYA NA- ACR- 4, Lib01, Com.R01 , Total Uni t- 06	0	1	63.95	63.95	38.37	25.58	19.185	100% UC Re quired

हा भेन्द हात्यर हिस्सिन She what Srivastava प्रतिक Under Secretary अपनेत्व्यक वर्ष मंत्रालय Ministry of Minority Affairs भारत सरकार, नई दिल्ली Goyt. of India, New Delhi

5	Alwar	UMRE N	Constructi 6 on of Com 0 posite Bloc k in Govt S S SALPUR - ACR-1 , SC LAB- 1, A&CR-1 , Toilets-2. Total Unit-	1	34.93	34.93	20.958	13.972	10,479	10.479
6	BUNDI	BUNDI	Constructi 6 on of Com 0 posite Bloc k in Govt S S RAJGAR H: ACR-8, Com.R-01, A& CR-01, SciLab-01, Lib-01, Toil et-2, CWS N Toilet-01 . Total Unit s-15	1	133.53	133.53	80.118	53.412	40.059	100% UC Re quired
7	Alwar	UMRE N	Constructi 6 on of Com 0 posite Bloc k in Govt S S MACHD I- ACR-1 , LIB-1, C OMP R-1, A&CR-1, T oilets-2. To tal Unit- 06	1	47.13	47.13	28.278	18.852	14.139	
8	BUNDI	BUNDI	Constructi 6 on of Com 0 posite Bloc k in Govt MAHARA NI GIRLS SSS W.NO 19, BUNDI : ACR-3, Sc iLab-01, Li b-01, Toilet -4, CWSN Toilet-01. T otal Units = 10	1	63.93	63.93	38.358	25.572	19.179	19.18



			Constructi on of Com posite Bloc k in Govt B ALIKA SSS VIKAS NA GAR BUN DI: ACR-2 , Com.Lib- 01, Toilet-3 , CWSN To ilet-01. Tot al Units- 7	0	1			25.236			UC Re quired
10	Alwar	UMRE N	Constructi on of ACR- 23		23	7	161	96.6	64.4	48.3	100% UC Re quired
11	Jaisalm er		Constructi on of Host el for Boy a nd Girls-Ja isalmer	0	2	250	500	300	200	150	UC Pe nding
12	Alwar	UMRE N	Constructi on of Com posite Bloc k in Govt Adarsh SS S PALKH ARI- ACR- 2, A&CR 01, Toilets- 1. Total Un it- 04	0	1	31.54	31.54	18.924	12.616	9.462	9.462
13	Alwar	UMRE N	Constructi on of Com posite Bloc k in Govt Adarsh SS S MAHUV A KHURD - Lib1, A &CR1, . T otal Unit- 2	0	1	22.75	22.75	13.65	9.1	6.825	100% UC Re quired
14	Alwar	UMRE N	Constructi on of Com posite Bloc k in Govt Adarsh SS S KESARP UR- Lib0 1, A&CR0 1, Toilets-2. Total Unit-	0	1	26.53	26.53		10.612	7.959	7.959

अपन्य देखर शीवास्तव shuistendu Thekhar Srivastava अप स्थित Under Secretary प्रसार्व्यक कार्य मंत्रालय Michistry of Minority Affairs भारत सरकार, नई दिल्ली Govt. of India, New Delhi

15	Alwar	UMRE N	Construction of Composite Block in Govt Adarsh SS KALI PA HADI- AC R-4, Toilets-2. Total Unit- 06	0	1	43.98	43.98	26.388	17.592	13.194	100% UC Re quired
16	Alwar	UMRE N	Constructi on of Com posite Bloc k in Govt Adarsh SS S CHAND OLI - Sc La b- 2, A&C R01, Toile ts-2. Total Unit- 5	0	1	36.43	36.43	21.858	14.572	10.929	100% UC Re quired
17	Alwar	UMRE N	Constructi on of Com posite Bloc k in Govt Adarsh SS S BHAND WADA- A CR-2, LIB- 1, A&CR0 1, Toilets-2. Total Unit- 06	0	1	46.63	46.63	27.978	18.652	13.989	100% UC Re quired
	MADH	MADH	Constructi on of ACR' s-02, Hall-0 1 Toilet-01 , in Govt. Girls Sen. S ec. School, Sawai Mad hopur	0	1	45	45	27	18	13.5	UC Pe nding
19	Jaisalm er	Sankara	*Constructi on of Com posite Bloc k in Govt S SS-MARA WA: Com. R-1, Art & CR-1, Tota I Units-2	0	1	20.1	20.1	12.06	8.04	6.03	UC Pe nding



20	Jaisalm er	Sankara	*Construction of Composite Block in Govt SS-SWAMIJI KI DHANI: Com.R-1, Art &CR-1, Sci Lab-1, Lib-1.Total Units-4	0	1	44.85	44.85	26.91	17.94	13.455	UC Pe nding
21	AJMER	Masuda	Constructi on of ACR in GUPS D EDPURA- ACR-2, GU PS RUPAH ELI KALA N-ACR-1 T OTAL 3 A CR IN 2 SC HOOLS	0	თ	6	18	10.8	7.2	5.4	5.4
22	AJMER	Masuda	Constructi on of ACR in Sec. and Sen. Sec. Sc hools	0	34	9	306	183.6	122.4	91.8	91.8
23	Bikaner		Govt.GIRL S SS, KHAJ UWALA: ACR-5,	,	5	8.7	43.5	26.1	17.4	13.05	100% UC Re quired
24	Bikaner		GOVT AD ARSH SSS, SAMARD A-ACR-3		3	8.7	26.1	15.66	10.44	7.83	State S hare n ot relea esd
25	Bikaner	550	GOVT SSS KUNDAL ACR-3	60/4 0	3	8.7	26.1	15.66	10.44	7.83	State S hare n ot relea esd
26	Bikaner		GOVT SSS SIYASAR CHOUGA N-ACR-3	60/4 0	3	8.7	26.1	15.66	10.44	7.83	
27	Gangan agar	Raising hnagar	Constructi on of ACR- 11 in Govt. Sec. & Sen. Sec. School s - 03 Scho ols	0	11	9.05	99.55	59.73	39.82	29.865	100% UC Re quired



28	Gangan agar	Raising hnagar	Construction of ACR-23 in Primary & Upp. Pry School/Sec & Sr Sec School-23 Schools	0	23	7	161	96.6	64.4	48.3	48.3
29	Gangan agar	Anupga rh	Constructi on of ACR 17 in Govt .Sec. & Sen . Sec. Scho ol - 05 Scho ols-	0	17	9.05	153.85	92.31	61.54	46.155	46.155
30	Gangan agar	Anupga rh	Constructi on of ACR -10 in Prim ary & Upp. Pry School /Sec & Sr S ec School - 10 Schools	0	10	7	70	42	28	21	21
31	Gangan agar	Gharsan a	Constructi on of ACR- 20 in Gov t.Sec. & Se n. Sec. Sch ool -6 Scho ols		20	9.05	181	108.6	72.4	54.3	54.3
32		Gharsan a	Constructi on of ACR -13 in Prim ary & Upp. Pry School /Sec & Sr S ec School- 13 Schools	0	13	7	91	54.6	36.4	27.3	27.3
33	Jaisalm er	Sankara	*Constructi on of Com posite Bloc k in Govt S S- CHAAI NURA: Co m.R-1, Art & CR-1, SC LAB-1, Lib -1. Total U nits-4	0	1	44.85	44.85	26.91	17.94	13.455	UC Pe nding



34	BARME R	CHOU HTAN	Constructi 60, on of ACR' 0 s in Primar y & Upper Primary Sc hool (SED WA-07/C HOUHTA N-10/DH ANAU-11) - 20 School s-	/4 28	7	196	117.6	78.4	58.8	State S hare n ot relea sed
35	BARME R	CHOU HTAN	Constructi 60, on of ACR' 0 s in Sec. & Sen. Sec. Sc hool(3 schools List Enclosed)(SED WA-04/C HOUHTA N-2/ DHA NAU-2)	74 6	10.05	60.3	36.18	24.12	18.09	100% UC Re quired
36	BUNDI	BUNDI	Constructi 60, on of ACR 0 in GOV T Primar y School, NEEM KA CHOHTA, Bundi	/4 1	7	7	4.2	2.8	2.1	2.1
37	UDAIP UR	UDAIP UR	GUPS BO 60, HRA GAN 0 ESH NAG AR, SAVI NA, UDAI PUR - TOI LETS-1 TO TAL- 01	/4 1	3	3	1.8	1.2	0.9	0.9
38	UDAIP UR	UDAIP UR	LATE PT 60, KHEMRAJ 0 GUPS TA MBAVATI MARG, A YAD, UDA IPUR- AC R-3 TOTA L-03	/4 1	15.35	15.35	9.21	6.14	4.605	4.61



39	UDAIP UR	UDAIP UR	GOVT GIR LS SSS, AY AD, UDAI PUR-ACR- 4,TOILET- 2 TOTAL-0 6	0	1	43.6	43.6	26.16	17.44	13.08	13.08
40	UDAIP UR	UDAIP UR	GOVT SSS, GARIBNA GAR, UDA IPUR-ACR -3, TOTAL -03	0	1	30.15	30.15	18.09	12.06	9.045	100% UC Re quired
41	CHUR U	CHUR U	Sadbhawn a Mandap, Van Vihar Colony, Ch uru-	0	1	234	234	140.4	93.6	42.12	UC Pe nding
							3320.14	1992.08	1328.06	967.96 2	399.224

अधिक संख्य श्रीव्यस्तव Studendu Shekhar Srivastava अप सम्बद्धि Moder Secretary अस्पसंख्यक कार्य मंत्रालय Ministry of Minority Affairs भारत सरकार, नई दिल्ली Govt. of India, New Delhi